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102 247 R A 5
RPEBER(—TTZ) HIH - #£2H
1.(209%) & 7 35 77 %.4% % 4 A #4 demand function & OP=120-2P. X ¥ 0P # quantity
demanded @ P 4% % price. 4 A #Y supply function % O’=3P X+ O %
quantity supplied.
(1)3 4 & demand curve $ supply curve.

(2)3 3+ B 4 A &9 equilibrium price, equilibrium quantity, consumer surplus, producer

surplus.
(3)3 3t & equilibrium 8% &4 elasticity of demand 2 elasticity of supply. (A ¥ # &5
&)

D)4 AHEEEUKRKES XEE  BEREBRELKS S  ERBRELEH
B B ML 4 B 3R B 4u 10 7uey AL f 4% supply function 8 % 0°=-30+3P
a3 B (1) a8 B L4 #.% supply curve it 3t B 3R #4449 equilibrium price,

equilibrium quantity, consumer surplus, producer surplus 2 B BRI ©
bEMHEERAEENHAET 5 D pIaR?
CE MK B o d & E AT A5 M4 thts] > 1 elasticity of demand #u elasticity of
supply # H /& Bl 442
(5)2A44 # total surplus Lh3RMAT S RV I=—F £ T % D IEH M A E?

2.(2096)3% X indifference curve 247 B ° A °
(1)% % g4 (inferior goods)& % s 2 % % 5 #1 (Giffen goods)?
(2)% 3+ 84(Giffen goods) & & 54 & A % % #4(inferior goods)?
(32818 # 4 & % (price consumption curve, PCC)?47 3§ A7 43 4 % &k (income

consumption curve, ICC)?

(4) ke PCC & ICC ®ab ik $1 7 ot o9 H ?

3.(10%)
(1)35 4 B % 5= B % & monopoly #y K #3594 -
QFEBBLAATHLERZEHRER  ERAKKRMHBERERASTIFAL
BAERFRFASENGRE
(@P=MR ; ())MR=MC ; (¢)MC=AC ; (d).P=AC ; (e)P=MC

4.(30%) M LR & —EMKe HREHEEe HEHLETTHERGLT
e &Y C=90+0.87"
#E R =20
HITHEE - G=80
R# T=24+0.2Y
Mg X-M=21.2-.0.04Y

A

M t§

ﬁﬁ-"s
ST



102 SAEEREIHE A H 5,
PRI =) H2H #2H

()HEY A%V 2 e TXEmmBY-TAS Y ?
(2)a. s 48 #2 & 69 (% ) multiplier & % 0?7
b. B A 48 F At & 913 B4 AL @ 48 1L 0 475 multiplier &t K724 /87
C.BH AL B X IAM SIS HAR L 0 7% multiplier 88 K? AHE?
BlaFeE R TIHEHIT
bELESRERE Y B 730 0 FHAE LAET Yeo
c.sbB5 % inflationary gap 3% % deflationary gap? gap % ? 3548 LA% i 4k gap -

5.(20%)
(1)3% A S8 X BB 7% 3099 & 3 58 o Jo 47 2 A 400 7 R 4 (aggregate demand, AD) -
(25 4 B 398 9L B 5 5 o AT B 40 R 8R ©
()3 4 B 309 & 9L 2k o YU B BT 2 Ik 4o 47 43 2] 48 v 44 4 4R (aggregate supply,
AS) > IR A LRI =Bk AS £ R ATRARK
(3)25 1A AD-AS #5740 20,8 & i £ ok Fu 811 B 7 2 Ok 7 3R TR B BUEL RBR GBI -



